All dimensions in mm

Array shown with top

DS15 horizontal.
However it is more
likely that the whole
array will require more
downward tilt

800.00

A3 sheet scale 1:20

depending on venue
size and array height.

0" 0D D™0 D=0~ 0 =D O=0 = =D 0~ o=

]
i
I
1
K

60

0" 0D D=0 DT~ 0

O 0D O~ DT 0 G0 Ow0 = G=D 0~o G

70

3161.07

ey

PART QTY. FIXING QTY.
DS15 4 M12 EYE NUT 6
v DS210 2 MT10 X 35mm EYE BOLT 2
S L BRACKETS 4 SPLIT PIN 6
0 INTERNAL MOUNTING BEAM (PRE : M12 X 45mm HEX BOLT 4
™ FITTED TO 1 X DS210) M12 WASHER 10
1 M12 X 1780mm THREADED ROD 4 M12 NYLOCK NUT 6
(WITH HOLES FOR SPLIT PINS) M12 NUT 5
18mm PLYWOOD SPACER 2| | M10 X 60mm SPECIAL HEX BOLT 4

Not supplied are the chain or wire for connecting rear of DS210 to rear of DS15

—r

—- —— -
ol s

T
O
T~
S
S
,
£

FUNKTION-ONE RESEARCH LTD
Hoyle, Beare Green, Dorking
Surrey RH54PS UK

Tel: +44 (0)1306 712820
mail@funktion-one.com
Copyright

Drawn By: Mike Igglesden

‘ Date: 08/12/2020

Title:Overview

Filename:

2 x DS210F + 4 x DS15F




All dimensions in mm

_400.00

2 x L brackets on top
face of top DS210

2 x M10 x 35mm eye bolts
on rear of botfom DS210

8 x internal corner brackets pre fitted to each DS210

35.00

L brackets this
orientation

40.00

-
[ ]
& of

[ g | \) [

Box section internal beam pre fitted

to inside of top face of top DS210

]

M12 x 45mm Hex Bolt L Bracket
M12 Washer @

N Internal Beam
M12 Washer o

|

M12 Nylock Nut

To join the two DS210 together,
4 x blanking bolts on this face

4 x M10 x 60mm Special hex
bolts thread through the
corner brackets from the
inside untill they thread into
the corner bracket if the
DS210 below. Use thread lock

A3 sheet scale 1:20
This hole for safety line

This hole for wood screw to
lock orientation

oI m el | of both DS210 are removed v e ol

[o-o: : I i “ "I'él: i :I ()

S AN I

! i . W ,

b | Rl R 0

il i @l s | | |

1Il_to. d - 04 || | Lo ] ° o ]

T

ik SR E ]

|l (]

a ii o o | |
L I W 1

i i : _;jl u'l "\\::\ i i ii: 4 | Hi .

: I f;: '1 |‘\:\: : :u ocdarTtions m‘

i SSE | . of corner backets B .

RN S I used in circles oL Al

FUNKTION-ONE RESEARCH LTD Tel: +44 (0)1306 712820 Drawn By: Mike Igglesden ‘ Date: 08/12/2020

Hoyle, Beare Green, Dorking
Surrey RH54PS UK

mail@funktion-one.

Copyright

com

Title:2 x DS210

Filename:

2 x DS210F + 4 x DS15F




All dimensions in mm

==

4 x M12 Eye nuts on top
face of top DS15 attached
to M12 threaded rods.

The M12 threaded rods pass right
through the four DS15s. As the backs are
pulled together by tightening the rear
lower lock nuts, the array will take up its
natural curve. This flexes the threaded
rod, but stays well within their elastic limit.

4 x M12 x 1780mm rods
pass through 4 x DS15

6 x Safety split pin (not

ensure eye nuts do not
unthread.

drawn) through M12 rod to

A3 sheet scale 1:20
M12 Nylock Nut

| M12 Nut
M12 Washer é!la
[ 4(5\\

V

)
Y

M12 Threaded Rod

M12 Eye Nut with safety split pin

18mm Plywood spacer

M12 Washer

‘
© ° 2 x M12 Eye nuts on
[ bottom end of rear
ol |~ threaded rods
0N Qe
Sl B3| |8 Lbrackets this
ientation.
orien 2 x L brackets on bottom
® reondoé of front threaded M12 Nylock Nut
/ [ L bracket
Q M12 Threaded Rod
Q
%%
FUNKTION-ONE RESEARCH LTD Tel: +44 (0)1306 712820 Drawn By: Mike Igglesden ‘ Date: 08/12/2020
Hoyle, Beare Green, Dorking mail@funktion-one.com
Surrey RH54PS UK Copyright Title:4 x DS15 Fiename: 2 X DS210F + 4 x DS15F




All dimensions in mm A3 sheet scale 1:20

M12 Washer
NI D NI~ D NI B L bracket M12 Nylock Nut
\ M /
i Tighten this fully after rear chain/wire
LL/ is attached at final length
\ | / Vi E#w\\% m \J —

] = S ( I

(2 \

L bracket

M12 x 45mm Hex Bolt \M] 2 Washer

<4 || 0

Represents 2 x chain or
steel wire that are to .
connect from M12 eye nuts ] M12eyenut [0 | P
on rear threaded rod ’ro]c

M10 eye bolt s onrear o : :
[ 1A= bottom DS210, this is not ® : ' =) =

a A @ ; j provided in flyware kit. 7 ' '

yﬁuNK‘ruc_:nN-::nNh

\
|

Varying the length of these will
adjust the vertical angle between
the DS15 and DS210.

We expect you will require
maximum angle so these will be as
short as possible. The fine tuning of
this depends on the venue.

M10 eye bolt

Both chains/wires are required, they
should be the same length and therefore
tension

FUNKTION-ONE RESEARCH LTD Tel: +44 (0)1306 712820 Drawn By: Mike Igglesden ‘ Date: 08/12/2020

Hoyle, Beare Green, Dorking mail@funktion-one.com
Surrey RH5 4PS UK Copyright Title:4 x DS15 & 2 x DS210 Filename: 2 X DS210F + 4 x DS15F




	Overview
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View7

	2 x DS210
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View22
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Detail View C (1 : 5)
	Drawing View26
	Detail View D (1 : 5)
	Detail View I (1 : 5)

	4 x DS15
	Drawing View36
	Drawing View39
	Drawing View42
	Drawing View43
	Drawing View50
	Drawing View51
	Detail View N (1 : 5)
	Detail View O (1 : 5)
	Detail View P (1 : 2)
	Detail View Q (1 : 2)

	4 x DS15 & 2 x DS210
	Drawing View56
	Drawing View57
	Detail View R (1 : 10)
	Detail View S (1 : 2)
	Detail View V (1 : 10)


